
10  10 Piston type pressure switch/HED8...1XJ

8 - Subplate

Contents Page
Model G115，G96   size 5  (ISO4401)
Model G341，G342，G502   size 6 (ISO4401)
Model G66，G67，G292，G308，G377，G378   size 10 (ISO4401)
Model G534，G535，G536，   size 10 (ISO4401)
Model G172   size 16 (ISO4401)
Model G174   size 16 (ISO4401)
Model G151，G153   size 25 (ISO4401)
Model G154，G156   size 25 (ISO4401)
Model G157   size 32 (ISO4401)
Model G460，G461   size 10 (ISO5781)
Model G412，G413   size 25 (ISO5781)
Model G414，G415   size 32 (ISO5781)
Model G545，G546   size 10 (ISO6264)
Model G408，G409   size 25 (ISO6264)
Model G410，G411   size 32 (ISO6264)
Model G467，G468   size 10 (ISO6264)
Model G469，G470   size 25 (ISO6264)
Model G471，G472   size 32 (ISO6264)
Model G51，G565   subplate G51/G565
Model G279，G280   size 10 (ISO6263)
Model G281，G282   size 16 (ISO6263)

0955
0956
0957
0958
0959
0960
0961
0962
0963
0964
0964
0964
0965
0965
0965
0966
0966
0966
0967
0968
0968

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

Terminal connection 

Circuit example

Without lamp
1

2

3

1

2

3

With lamp

PE
P 0(MP) gn

ge

PE

P

R(P) R(P)

1

Si
m

pl
e 

ci
rc

ui
t

(1
 x 

HE
D8

)

ge
MP(N)

MP(N)

Working switch

Working switch

2                    3

gn gn

2                         3                2                     3

gn

P

 D
iff

er
en

tia
l c

on
ne

ct
io

n
 w

ith
 n

or
m

al
ly

 o
pe

n 
(2

xH
ED

8)

maximum
P

1 1
P

ge ge

07

0952 0953

www.hydrootvet.ru

www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru



01  14

Subplate, Size 5 (ISO4401) Size unit: mm

Subplate

Φ7

Model G115/01 (G1/4"), Model G115/02 (M14×1.5 )

28.9

10

12
17.7

6.5

60
80

60

13.7 25.8

21
.4

46

(G115/01)G1/4"/15
(G115/02)M14×1.5/15

A-AΦ7
M5/9

Φ25/1

Φ4.5
(A,B,P,T)

48
24

R13

28

G115/01      G1/4"
G115/02   M14×1.5

0.7kg

Model WeightD1

Model WeightD1
G96/01           G1/4"

G96/02       M14×1.5
0.7kg

Model G96/01 (G1/4"), Model G96/02 (M14×1.5 )

(G96/01) G1/4"/15
 (G96/02) M14×1.5/15

28.9
17.7

12
6.5 38

24

10

21
.5 36

6

25
64

22.5    25.8

A-A
53Φ6.4/H12

30° 30°

40° 40°
Φ25/2

Any part of this brochure can not be reproduced, edited, copied and
disseminated electronically in any way without authorization of Jiayite
Hydraulics company. As the product is in constant development and
innovation, the information in this brochure is not specific to the
special conditions or applicability of a specific industry, thus Jiayite
Hydraulics company is not responsible for any incomplete or 
inaccurate description generated.

0954 0955

08

www.hydrootvet.ru

www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru



03  1402  14

Subplate, Size 6 (ISO4401)

Subplate

Size unit: mm Subplate, Size 10 (ISO4401) Size unit: mm

Subplate

Model WeightD1

Model WeightD1

Model WeightD1
Model WeightD1

Model WeightD1

95
80

1 25

0.
75

58 31
Model G341/01 (G1/4")
Model G341/02 (M14×1.5 )

Model G342/01 (G3/8")
Model G342/02 (M18×1.5 )

Φ7

Φ11/2

5.
95

32
.5

32
.5

26
.55

16
.2

5

12
.7

3;4
Φ6

M5/10
10.3
19

27.8

40.5

9

58
48

22 2R70

G1/4"/13

G341/01      G1/4"
G341/02   M14×1.5

0.6kg

G342/01       G3/8"
G342/02   M18×1.5

1.1kg

G502/01         G1/2"
G502/02      M22×1.5

1.1kg

1

105
90

26

0.
75

3180

Φ7
3;4 Φ6

M5/10 Φ11/2

5.
95

16
.2

5

10.3
19

40.5
27.8

32
.5

26
.55

30
69

9

45
21 2

44

R85

Model G502/01 (G1/2")
Model G502/02 (M22×1.5 )

1
125

76.533.5

25
.931 15

.5
5.

1 0.
75

Φ7

3;4
Φ6

12.7
21.5
30.2

M5/10

40.5

Φ11/2

32
.5

10
2

35
9

82.5
55

27.5 2

1 Valve mounting face grinding
2 Front panel opening
3 Valve fixing screw holes
4 Valve fixing screw: 4pcs hexagon  screws M5, GB/T70.1-10.9 grade

Model G66/01 (G3/8") , Model G67/01 (G1/2")
Model G66/02 (M18×1.5 ) , Model G67/02 (M22×1.5 )
For spool and seat directional valve, pressure up to 315bar

Φ20,1 66.7

6.
3

46

1
Φ10.5

32
.5 21
.4

23

Φ10.5

3;4 M6;12
3.2

16.7
27
37.3

54

24
32 102

D1;T111
.5

11
5

92 78
.5 51

23
.5

5141 46

2

R47+2
0

R47+2
0

11.3
10.7

39.7
68.7
79.4

G66/01(02)   G3/8" (M18×1.5 )          13
G67/01(02)   G1/2"(M22×1.5)           15

T1

2.3kg

1 Valve mounting face grinding
2 Front panel opening
3 Valve fixing screw holes
4 Valve fixing screw ：4pcs hexagon  screws M6, 
   GB/T70.1-10.9 grade
Model G292/01(02), Model G308/01(02), Model G377/01(02), Model G378/01(02)

For seat directional valve, pressure up to 630bar (not suitable for proportional valves and servo valves)

3266.7
1Φ10.5

6.
3

23

46

Φ20

32
.5 21

.4

Φ10.5

3;4 M8;15

54

3.2

27
37.3

16.7

2

11
.5

11
5

92 78
.5 51

23
.5

D1;15

5141 46

R47+2
0

R47+2
0

11.3
10.7

39.7
68.7
79.4

G292/01(02)    G1/2" (M22×1.5)
G308/01(02)    G3/8"(M18×1.5)
G377/01(02)    G3/8" (M18×1.5)
G378/01(02)    G1/2" (M22×1.5)

2.6kg1 Valve mounting face grinding
2 Front panel opening
3 Valve fixing screw holes
4 No port B for subplate G292/01(02) and G308/01(02)
5 Valve fixing screw: 4pcs hexagon  screws M8，GB/T70.1-10.9 grade

0808

0956 0957

www.hydrootvet.ru
www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru



04  14 05  14

Subplate, Size 16 (ISO4401) Size unit: mmSubplate, Size 10 (ISO4401) Size unit: mm

Subplate Subplate

Model WeightD1

Model D1 D2 Weight

Model D1 T1 Weight

Model G534/01 (G3/4") , Model G534/02 (M27×2)
For spool  directional valve

Φ10.5 Φ20;1

6.
3

46 32
.5

21
.4

23

3;4 M6;12
3.2

27
37.3

54

16.7
1

Φ10.5

40
24

11
5 92 80

46
12

11
.5

120
76.2

R26 39.7 3.2

R26

2D1;16

R26

R26
99.7

G534/01      G3/4"
G534/02   M27×1.5

2.5kg

Model G535/01 (G3/4"), Model G535/02 (M27×2), Model G536/01 (G1"), Model G536/02 (M33×2)
For spool  directional valve

Φ10.5 Φ20;1 M6;12 Φ11.2Max

46

11
6.

3

32
.5

21
.4

23

Φ7

1
3;4 Φ10.5 8

27
37.3

54
62

16.7
3.2

42
24 D2;12

11
4

11
92

88
44

D1;T1

13 52

2

104
136.6
162.3

8
27

.5
27

.5
35

R51

G535/01(02)   G3/4" (M27×2 )            16
G536/01(02)     G1"(M33×2)               18

3.6kg
1 Valve mounting face grinding
2 Front panel opening
3 Valve fixing screw holes
4 Valve fixing screw: 4pcs hexagon  screws M6，GB/T70.1-10.9 grade

Model G172/01 (G3/4") , Model G172/02 (M27×2)

1 Locating pin hole
2 Valve fixing screw holes
3 Valve mounting face grinding
4 Front panel opening
5 Valve fixing screw:
   4pcs M10, GB/T70.1-10.9 grade
   4pcs M6, GB/T70.1-10.9 grade

Φ4H12;8

2;5

1 160

466Φ9

1.
6

71
.5

69
.9 57

.2
55

.6 36
.9 15

.9 14
.3

Φ15;23

140
4×M10;19

3

92

7
17

31
60

74
94

109

35

Φ4

Φ4H12;81

19.2

29.2

18.3
34.1

50
65.9

76.6
89.1
101.6

Φ7Max
(X,Y)

14
.3

15
.9

39
.9

51
.9

55
.6

(X,Y,L)
D2;13

Φ19
(A,B,P,T) D1;17

(A,B,P,T)

2;5
2×M6;19

R41

G172/01          G3/4"            G1/4"
G172/02     M27×1.5    M14×1.5

2.8kg
0808

0958 0959

www.hydrootvet.ru
www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru



06  14

Subplate, Size 16 (ISO4401) Size unit: mm

Subplate

Model D1 D2 Weight

Model D1 D2 Weight

1 Locating pin hole
2 Valve fixing screw holes
3 Valve mounting face grinding
4 Front panel opening
5 Valve fixing screw:
   4pcs M10, GB/T70.1-10.9 grade
   4pcs M6, GB/T70.1-10.9 grade

Model G174/01 (G1") , Model G174/02 (M33×2)

(A,B,P,T)

(X,Y,L)

Φ15.1
Φ4H12;8Φ9

160
2;5

3

96 12
0

1

15
.9

71
.5

69
.9 57

.2
55

.6 34
.9

14
.3 1.
6

4×M10;19
184

R58

D1;19
4

8.
3

46
.9

47
.9

61
.9

D2;13

6.5
22.5

61.5

77.5
110
120 2130

33

60

42 101.6
89.1

76.6
2;565.9

50
34.1

18.3

2×M6;19

Φ7max

Φ4

(X;Y)

Φ4H12;8

G174/01             G1"              G1/4"
G174/02        M33×2      M14×1.5

5.5kg

07  14

Subplate, Size 25 (ISO4401) Size unit: mm

Subplate

Model G151/01 (G1") , Model G151/02 (M33×2); Model G153/01 (G1"), Model G153/02(M33×2)

Φ24.5

Φ6.5 ; 8
Φ22(P)

Φ11.2

Φ11

Φ18

(X,Y)

1;6

3 4

205

25.5
14

181
(A,B,T)

M12;25
112.5

94.3
76.8

37.5
25.5

4.
8

17
.5
19

46
7374
.5

92
.1

5 5.6
17.3

29.2
53

77
100.6

130

Φ8

2

G1";19
(A,B,P,T)

11
6

9.3

48
81.8

105.6
120.5

24.2

17
.6

19
.1

46
.1

73
.1

74
.6

G1/4";13
(X,Y,L)

24 35

G151/01          G1"           G1/4"
G151/02     M33×2   M14×1.5
G153/01          G1"           G1/4"
G153/02     M33×2   M14×1.5

5.4kg
1 Locating pin hole
2 Valve fixing screw holes
3 Valve mounting face grinding
4 Front panel opening
5 Φ8mm connection hole to oil port L only drilled in subplate G153 
  (for hydraulic centered valves)
6 Valve fixing screw:
    6pcs M12, GB/T70.1-10.9 grade

0808

0960 0961

www.hydrootvet.ru
www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru



Model D1 D2 Weight

Model D1 D2 Weight

1 Valve fixing screw holes
2 Valve mounting face grinding
3 Locating pin hole
4 Front panel opening
5 Valve fixing screw:
   6pcs M20, GB/T70.1-10.9 grade

1 Locating pin hole
2 Valve fixing screw holes
3 Valve mounting face grinding
4 Front panel opening
5 Valve fixing screw:
   6pcs M20, GB/T70.1-10.9 grade

08  14 09  14

Subplate, Size 25 (ISO4401) Size unit: mm Subplate, Size 32 (ISO4401) Size unit: mm

Subplate Subplate

Model G157/01 (G1 1/2") , Model G157/02 (M48×2 )Model G154/01, Model G154/02; Model G156/01, Model G156/02

306.5
266.5

1

3

58
38

15
9

19
9

20

13
0.

5
12

4 79
.7 44

.5 35

Φ34(P)

41.5
76
82.5
114.5
147.5
168.5
190.5

Φ6.5;8
D2;12 D1;22

(A,B,P,T)

Φ13(X,Y,L)

(X,Y,L)

Φ38(A,B,T)

M20;35 2;5

Φ18

Φ26

30 32 54

4

38

80

32

62.5
77.5

115.5
152.5

186.5
190.5

206.5

G157/01        G1 1/2"          G3/8"

G157/02        M48×2      M18×1.5
18.8kg

92 74
.5 73
46
19 17
.5
4.
8

46

Φ24.5

Φ22(P)
Φ6.5;8 Φ11

(L,X,Y)
3

1;5
M12;25

(A,B,T)

250
222 G1/4";13

(X,Y,L)

11
38

81 85

7

14
2

17
0

2 5.6
17.3
29.2

53
76.8

100.6
112.5

130

4 D1;23 14.2
38

57

40.9
29.2

65
73

91.8
115.6

159

(A,B,P,T)

Φ14

Φ20

45
78

G154/01        G1 1/4"           1/4"
G154/02       M42×2    M14×1.5
G156/01        G1 1/2"        G1/4"
G156/02      M48×2     M14×1.5

18.5kg

0808

0962 0963

www.hydrootvet.ru
www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru



10  14 11  14

94
101

34.5  42.9

Subplate (ISO5781) Size unit: mm Subplate (ISO6264) Size unit: mm

58
.8

Φ9

M10/23

Φ25/1.5

78
12

4
10

6.
5

84 66
.7 A,B Φ13

2
X,Y Φ6

1
7.2
9

21.5
31.8

Φ7/6 3 30

7.
9

17

35.8
42.9

G1/4" /12.5
R10

D2/T1

4

30°

2
21.5

120+3
0

10
8+3 0

41

42.9

30
.8

31

97 10
6.

5

69Nm       1.7kg

Size Model D2 Valve fixing screw Torque WeightT1

Size Model D2 Valve fixing screw Torque WeightT1

Size Model D2 Valve fixing screw Torque WeightT1 Size Model D2 Valve fixing screw Torque WeightT1

Size Model D2 Valve fixing screw Torque WeightT1

Size Model D2 Valve fixing screw Torque WeightT1

G460/01
G460/02
G461/01
G461/02

G3/8"
M18×1.5

G1/2"
M22×1.5

G412/01
G412/02
G413/01
G413/02

G3/4"
M27×2

G1"
M33×2

13

16
10 4pcs M10×40-10.9

(GB/T70.1-2000)

125
33   60.3

14
2

12
3.

8
10

0
79

.4 73 6.
4

Φ6
M10/24
A;BΦ22
X;Y Φ6

2

3Φ7/61 11.1
20.6

39.7
44.5
49.2
60.3

20
40

Φ25/0.5

G1/4" /12.5
R10

D2/T1
4

2.5
20.6

79
.4

12
3.

8

39.7
57.5

60.3

25

32

17

20

20.5

22.5

69Nm       3.3kg4pcs M10×50-10.9
(GB/T70.1-2000)

4pcs M10×60-10.9
(GB/T70.1-2000)

155
138 8.5

35.5 84.2

A;BΦ32
X;Y Φ6

3

2

20
39
42

Φ7/6

Φ9

M10/251

16.7
24.6
42.1

15
6

13
8.

1
96

.8
92

.8 3.
8

62.7
59.5

67.5

R20+3
0

Φ25/0.5

G1/4" /12.5

R38+3
0

R20+3
0

D2/T1

4
6

84.2

96
.8

13
8.

1

24.6
59.5
78

G414/01
G414/02
G415/01
G415/02

G11/4"
M42×2
G11/2"
M48×2

69Nm       5.0kg

1 Valve mounting face grinding
2 Valve fixing screw holes

3 Locating pin hole
4 Incision outline of subplate

1 Valve mounting face grinding
2 Valve fixing screw holes

3 Locating pin hole
4 Incision outline of subplate

32 20.5

22.5
4pcs M18×50-10.9

(GB/T70.1-2000)

G410/01
G410/02
G411/01
G411/02

G11/4"
M42×2
G11/2"
M48×2

405Nm       5.0kg

M12/26
Φ7/6

Φ9
15

30

3Φ12
27 42.9

2
1

95
88

12
4

10
6.

5
76

.5 54

47.6
54

9
5.5

22.2

Φ82+0.3
0

ΦD2/15

G1/4"/13

47.6
23

42.9

10
6.

525
8

9
22

G545/01
G545/02
G546/01
G546/02

G3/8"
M18×1.5

G1/2"
M22×1.5

13

16
10 120Nm       1.5kg4pcs M12×50-10.9

(GB/T70.1-2000)

134
115
85.722.5

Φ14

M16/26

M18/26

Φ25

2

1
Φ7/6

Φ6
12.5
23.8

33.3
55.6
66.7

15
2

12
7

10
0

69
.8

3 R28+2
0

R38+0.2
0 R10

R165
76.2 19.5
114.3

14
6.

12

D2/19

4

4
31 12

7

Φ25/0.5
G1/4"/13

20
6

60
85.7

G408/01
G408/02
G409/01
G409/02

G3/4"
M27×2

G1"
M33×2

25

158
146

15.5

17
0

14
6.

1
11

4
82

.5

114.3

17

20
295Nm       3.0kg4pcs M16×50-10.9

(GB/T70.1-2000)

2

1

Φ32

Φ7/6

Φ14

3

22
42

Φ7/19 12.5
31.7

12.7
44.7
76.2
88.7

4

Φ25/0.5
G1/4"/13

D2/23

Subplate Subplate

20
   40 0808

0964 0965

www.hydrootvet.ru
www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru



Model WeightD1

Model WeightD1

Size Model D2 Valve fixing screw Torque WeightT1

Size Model D2 Valve fixing screw Torque WeightT1

Size Model D2 Valve fixing screw Torque WeightT1

1 Valve mounting face grinding
2 Valve fixing screw holes

3 Locating pin hole
4 Incision outline of subplate

12  14 13  14

Subplate (ISO6264) Size unit: mm Subplate (G51、G565) Size unit: mm

94
101

10
25

35.8
19.8

12
4

10
6.

5
84 66

.7

7.2

1
9

31.8
42.934.5

101.6 112.7
57.1

2.2
31

12.5

15
5

13
0

10
3

69
.9

12.7
57.1

M10/24
Φ9

Φ10
2

Φ7/6 3 15
30

40

R25

R20

42.9 4

D2/T1

G467/01
G467/02
G468/01
G468/02

G3/8"
M18×1.5

G1/2"
M22×1.5

10
12

14
69Nm       1.7kg

295Nm       5.2kg

4pcs M10×80-10.9
(GB/T70.1-2000)

4pcs M16×100-10.9
(GB/T70.1-2000)

4pcs M16×60-10.9
(GB/T70.1-2000)

4pcs M18×120-10.9
(GB/T70.1-2000)

4pcs M18×80-10.9
(GB/T70.1-2000)

M16/24

M18/37

2

1

156
175

Φ14 3

40

R30
D2/T1

4
4625

25

15.5 63.5
12.7

44.5        127 142.5
139.7

G469/01
G469/02
G470/01
G470/02

G3/4"
M27×2

G1"
M33×2

16

18

17
7.

5
15

2.
5

11
8.

5
82

.5 2

26
47

Φ14 3

69.7
50.8   3.3

R36
D2/T1

4
145.9
149.5

32
G471/01
G471/02
G472/01
G472/02

G11/4"
M42×2
G11/2"
M48×2

20

22 405Nm       8.2kg

Subplate Subplate

Model G51/01 (G1/4") , Model G51/02 (M14×1.5 )

Φ7 85

Φ6

Φ11.5/7

M8/12

32 44 54 70

206.5

16.5
9.5

54
61.5
67.5

G1/4/12

G51/01           G1/4"

G51/02       M14×1.5
1kg

Valve fixing screw 4pcs M8, GB/T70.1-10.9 grade

Model G565/01 (G3/4") , Model G565/02 (M27×2)

110
22.5       42.9 Φ9

Φ14

M12/25

12
2

10
6.

5
54

Φ7/6
40

3-2

17
22.2

47.6

1 G3/4  /17 G3/4  /17

29
9

15
27

62

Valve fixing screw  4pcs M12, GB/T70.1-10.9 grade
1 Valve mounting face grinding
2 Valve fixing screw holes 1kg

G565/01         G3/4"

G565/02       M27×2

0808

0966 0967

www.hydrootvet.ru
www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru



WeightSize Model D2D1 Valve fixing screwT1

WeightModel D2D1 Valve fixing screwT1

14  14

Subplate (ISO6263) Size unit: mm

Subplate

Model G279/01(G1/2)，Model G279/02 (M22×1.5) ; Model G280/01(G3/4)，Model G280/02 (M27×2)

Φ15/1

Φ12max

Φ18/1

Φ104

ΦD2/0.5
D1/T1M10/25

4.5(G282/01)
4

75

78
24

11
5+
5

20.5

Φ10.4 ；8(G281/01)H12

Φ10.4 ; 8H12

22.2

146
102.4
101.5

75

12
3.5

123.5
168

90
.5

72
.9

15

10
1.5

0.8Φ11

(A,B)

M8/13

114.5
79.4
76

19.2

30.5

38

9.6
55.1

95
133.5

Φ9
Φ25

Φ20

Φ7.5/8
4

39
+5

30
55.1

9.6201

10
1.

5

35
.5

30
.1 71

.6
58

.782
.5

57

3
5

30
.1 63

.5

Size 

10 2.8kgG279/01(02)
G280/01(02)

G1/2(M22×1.5)
G3/4(M27×2)

34     15
42     17

G1(M33×2)
G11/4(M42×2)

47       19
56       21

4 pcs hexagon screws M10
GB/T70.1 10.9 grade

Model G281/01 (G1), Model G281/02(M33×2); Model G282/01(G11/4)，Model G282/02 (M42×2)

Φ150+
5

2

20
403

56

20.5

Φ20max
( A,B )

16 5kgG281/01(02)
G282/01(02)

4 pcs hexagon screws M10
GB/T70.1 10.9 grade

1 Valve mounting face grinding
2 Front panel opening
3 Valve fixing screw holes
4 Locating pin hole

5 Valve fixing screw:
    GB/T 70.1-M 12-10.9 (size 10)
    GB/T 70.1-M 16-10.9 (size 25)
    GB/T 70.1-M 18-10.9 (size 32)

9 - 

Model GB/T70.1-M5×***-10.9 ， GB/T897-M5×***
Model GB/T70.1-M6×***-10.9 ， GB/T897-M6×***
Model GB/T70.1-M10×***-10.9 ， GB/T897-M10×***
Model GB/T70.1-M12×***-10.9 ， GB/897-M12×***
Model GB/T70.1-M20×***-10.9 ， GB/T897-M20×***

0971-0972
0973
0974
0975
0976

●

●

●

●

●

Screws and Studs for Modular Valves

2

Φ150+5

ΦD2/0.5
D1/T1

1

Contents Page

08

0968 0969

www.hydrootvet.ru

www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru




